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QUESTION 1

What statement describes the iSCSI client system\\'s iISCSI database?

A. The client maintains a text formatted file, /etc/iscsif/iscsi.db.

B. The client can use either a local database in the form of a Berkeley DB formatted file in /etc/iscsi or a distributed
database in the form of Internet Storage Naming Service (iISNS) as its database. It is a decision for the System and
Storage Administration team.

C. The client maintains a local database in the form of a directory tree structure in /var/lib/iscsi.

D. The client maintains a local database in the form of a directory tree structure in /etc/iscsi/db.

Correct Answer: A

QUESTION 2

Which command can be used to display the parameters of a given cgroup in the cpuset subsystem?
A. Iscgroup | grep group | grep cpuset

B. cgget -g cpuset cgroup

C. Issubsys | grep group | grep cpuset

D. cat /cgroup/cpuset/cgroup/params

Correct Answer: C

You can use the Issubsys command (which is included in the libcgroup package) to view the available kernel
subsystems: # Issubsys -am cpuset cpu cpuacct memory devices freezer net_cls blkio

QUESTION 3

Which three statements are true about accessing Windows shares from Linux with SAMBA on Oracle Linux?
A. The findsmb utility queries a file to find SAMBA servers.

B. The username required to access the SAMBA shares on Windows may be specified in the mount command.
C. FTP may be used to access SAMBA shares on Windows.

D. The password required to access SAMBA shares on Windows may be specified in the mount command.

E. The smbtree utility queries a file to find SAMBA servers.

F. The smbclient utility uses a lowercase version of the environment variable USER or LOGNAME if the username is not
provided on the command line.

G. The username and password required to access SAMBA shares on Windows may be specified in /etc/ fstab.
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Correct Answer: AEF

Reference: http://docs.oracle.com/cd/E37670_01/E41138/html/ol_about_samba.html#idm139784792480512

QUESTION 4

Which two statements are true about the configuration and implementation of magic SysRq keys in Oracle Linux?
(Choose two.)

A. A value of 1 in the /proc/sysrg-trigger file enables magic SysRq keys.
B. They are implemented as part of the Linux keyboard driver.

C. A value of 1 in /proc/sys/kernel/sysrq enables all magic SysRq keys when entered by echoing values to the
/proc/sysrg-trigger file.

D. A value greater that in /proc/sys/kernel/sysrq disables all nagic SysRq keys when entered from a keyboard.
E. A value of 1 in /proc/sys/kernel/sysrq enables all magic SysRq keys when entered from a keyboard.
Correct Answer: AC

Reference: https://sites.google.com/site/syscookbook/rhel/rhel-sysrg-key

QUESTION 5

Which three statements are true about SAMBA utilities and the configuration of SAMBA on Oracle Linux? (Choose
three.)

A. The /etc/samba/smbusers file must contain a mapping from Linux usernames to Windows usernames, even if the
names are the same, to access Linux shares from Windows.

B. To mount SAMBA shares on Linux, use the mount -t sifs command.
C. SAMBA uses the Linux user password to authenticate users when accessing Linux shares from Windows.

D. The smbtree command may be used to locate SAMBA servers available to locate SAMBA servers available to a
Linux client.

E. Printers are configured in /etc/samba/smb.conf.
Correct Answer: ABE

Reference: https://www.thegeekdiary.com/beginners-guide-to-samba-installation-and-configuration/

QUESTION 6
Which two commands can be used to find the cgroup to which a given process with PID belongs?

A. cgget -a | grep PID
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B. ps -o cgroup | grep PID
C. cat /proc/PID/cgroup
D. Iscgroup | grep PID
Correct Answer: BC

Reference: https://access.redhat.com/documentation/en-US/Red_Hat_Enterprise_Linux/6/html-single/
Resource_Management_Guide/

QUESTION 7

Which three statements are true about the Kickstart installation method?
A. It always requires a Kickstart file.

B. The system must be booted manually with the ks= option.

C. It automates the installation of Oracle Linux.

D. It creates a Kickstart file.

E. It requires local access to the installation media.

F. It requires a PXE boot from the network.

Correct Answer: CEF

Reference: http://docs.oracle.com/cd/E37670_01/E41137/html/ch03s02.html

QUESTION 8

You need to disable access to all LUNs shared through one specific target, target ID 3.
Which command would you use to achieve this?

A. tgtadm —update —mode target —tid 3 —name=online —value=0

B. tgtadm —mode target —op update —tid=3 online =0

C. tgt-admin —offline tid=3

D. service tgtd stop_target 3

Correct Answer: C

QUESTION 9
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A container is not starting.

What is the best way to debug the issue?

A. Use strace on the Ixc-start command.

B. Use gdb on the Ixc-init executable.

C. Look in /var/log messages for ixc failures.

D. Increase the log level of Ixc-start with the -1 option.

Correct Answer: B

QUESTION 10

Examine the contents of the /etc/ocfs2/cluster.conf file: node: name = exam2 cluster = mycluster number = 0 ip_address
=192.168.56.106 ip_port = 7777

node: name = exam3 cluster = mycluster number = 1 ip_address = 192.168.56.107 ip_port = 7777 clustr: name =
mycluster heartbeat_mode = local node_count = 2

Identify the minimum number of commands issued, in the correct order, to create this file.
1.

02cb add-cluster --heartbeat_mode local mycluster

2.

02cb add-node --ip 192.168.56.107 --number 1 mycluster exam3
3.

02cb add-cluster mycluster

4,

02cb add-node --ip 192.168.56.106 -- number 0 mycluster exam?2
5.

00cb config-cluster -node_count 2 mycluster

6.

02cb configure

A.3,4,2

B.6,4,2,3

C.6,4,2,5,3

D.6,1,4,2
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E.1,4,2
F.1,4,2,5

Correct Answer: C

QUESTION 11

Which two mandatory parameters are defined in the cpuset subsystem? (Choose two.)
A. shares

B. cpus

C. mems

D. memory-migrate

E. stat

Correct Answer: BC

Reference: https://www.oracle.com/technetwork/articles/servers-storage-admin/resource-controllers-linux1506602.html

QUESTION 12

Which three statements are true about the contents of the /etc/ocfs2/cluster.conf configuration file?
A. The heartbeat stanza is required only if local heartbeat mode is enable.

B. All stanzas must start at the first column and end with a colon.

C. All parameters must start after a tab.

D. A blank line must demarcate each stanza.

E. A blank line must demarcate stanzas and parameters.

F. All parameters must start after a tab and begin with a colon.

Correct Answer: CDF

QUESTION 13
Identify the minimum required steps to configure postfix on a client system to relay outbound emails to an
SMTP server.

Note: The postfix package is already installed and running on the system.
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1.

Install the postfix-cf package.

2.

Set the myorigin parameter to $mydomain in /etc/postfix/main.cf.
3.

Set the relayhost parameter to the desired SMTP server in /etc/postfix/main.cf.
4.

Restart mail services by using: service postfix restart.
A.1,23,4

B.1,3,4

C.3,4

D. 3 only

E.2 3,4

F.2,4

Correct Answer: E

QUESTION 14

Which three statements are true about Btrfs copy --reflink?

A. It works only on the same bitrfs file system.

B. It works only on the same subvolumes.

C. It creates a new link pointing to an existing inode.

D. It creates a new inode that shares the same disk blocks as the original.
E. It creates a clone file and disk blocks are duplicated.

Correct Answer: ABC

Reference: https://blogs.oracle.com/OTNGarage/entry/save_disk_space_on_linux

QUESTION 15
After creating empty mount point /xfs1, you execute the command:

# mkfs —t xfs —L /xfs1 —| logdev=/dev/sdd1 /dev/sdhl
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Which two statements are true about the effects of executing the mkfs command?
A. It fails if there is an existing XFS file system on /dev/sdh1l.
B. It fails if there is an existing XFS log on /dev/sdd1.
C. It fails if there is an existing XFS file system on /dev/sdd1.
D. It fails because there is no size specified for the XFS log.
E. The xfs1 file system is mounted automatically during system startup.
F. It creates and mounts the /xfs1 file system.

Correct Answer: DF
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